Letd =27 —6i . SCORE: /11 PTS

[a] Find a vector § in the same direction as d , such that || 5 || = 4

A1 - sl 19 <oy (2 iy
PLCE B (EBD

Write g = <=2, 34 > as the sum @ectors, one perpendi—q.ljar to d and one parallel to d .
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[c] If p isavector with magnitude 6 which makes an angle of 150° with d , find the exact value of pd.
No decimal answers allowed.
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Three forces act on an object. SCORE: /12 PTS
Force | has magnitude 7 newtons and direction angle 75°.
Force 2 has magnitude 10 newtons and direction angle 125°.

Force 3 has magnitude 3 newtons and direction angle 235°.

[a] Find the resultant of the three forces in component form.
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[b] Find the magnitude and direction angle of the résultant
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[c] The resultant of the three forces acted on the object to move the object from (4, —9) to (=1, —3), where all coordinates are
measured in meters. Find the work done, and give appropriate units for your answer.
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[a] You start at the origin in 30 and move 4 units down, 7 umts ga'kwarta) and unitf right. You are now at the point with

|[FILL IN THE BLANKS]

co-ordinates L} (ﬁ — { ){you are in octant | C and you are units away from the xy —plane.
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[b] If G-b = -3, then the angle between @ and b is \E_)( ST LI ‘ @




